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1. Pa3bueHune curHana Ha okHa (frames):

+ npobnema nocriegHero okHa (4Yemy paBHO KONMYECTBO (PppenMoB B CUrHane?)

«— Frame 1 —*

l— Frame2 — 50% frame overlap

- - e
"ﬁ Frame 4 —»




OnuHa ppenma:
1. duKkcmnpoBaHHas

2. PaBHas nepuogy OT




2. OKOHHble (PYyHKLUNMN:

a) NPSIMOYroSyibHOEe OKHO

6) okHO XammunHra (Hamming)
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2. OKOHHble (PYyHKLUNMN:

B) OkHO XaHHa/XaHHuHeza (Hann/Hanning
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2. OKOHHble (PYyHKLUNMN:

r) okHo Kansepa (Kaiser)

w(n) = Iy (5\/1 — (Mfl+21)2) /To ()
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2. OKOHHble (PYyHKLUNMN:

0) ayccoBo OKHO

sl = (-%("G_T]jz/z)z)

o< 0.5

0<n<N.
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1. OHeprus It]tz x2(l‘) dt

The values in the sound are first squared, then convolved with a Gaussian
analysis window (Kaiser-20; sidelobes below -190 dB). The effective duration of

2. VIHTEeHCNBHOCTb this analysis window is 3.2 / pitchFloor, which will guarantee that a periodic
signal is analysed as having a pitch-synchronous intensity ripple not greater than
0.00001 dB.

3. Zero-crossing rate




4. [xuttep

5. Wnmmep
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Time (in seconds)
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0.02 0.025 0.03



First, we define the absolute (non-relative) local jitter (in seconds) as the mean absolute (non-negative) difference of consecutive intervals:

jitter(seconds) = Y=V |Tj - Ti.1| / (N - 1)

where 7; is the duration of the ith interval and N is the number of intervals. If an interval 7;_; or 7; is not between Period floor and Period ceiling,
or if 7;.1/T;j or T;/T;.1 1s greater than Maximum period factor, the term |7} - 7;_1| is not counted in the sum, and N is lowered by | (if N ends up
being less than 2, the result of the command is undetined).

Second, we define the mean period as
meanPeriod(seconds) = ) ;= N T;/N

where 7; is the duration of the ith interval and NV is the number of intervals. If an interval 7; is not between Period floor and Period ceiling, or if
T;.1/Tjor T;/T;_; 1s greater than Maximum period factor and T;+1/T; or Tj/Tj+ is greater than Maximum period factor, the term 7; is not counted

in the sum, and N is lowered by 1; this procedure ensures that in the computation of the mean period we use at least all the intervals that had taken
part in the computation of the absolute local jitter.

Finally, we compute the (relative) local jitter as

Jitter = jitter(seconds) / meanPeriod(seconds)



Cnacu6o 3a BHMMaHue!

e/

11



